
 

 

Nature set 

Material : 

4 balls of Fil Indy de Cheval Blanc 

Needles 4.5mm,Circular needles 3.5mm with a cable of 80cms. 

1 stitch marker, 1 cardboard of 12 cm, cisors, tapestry needles. Wood beads or any thing you want 

to use to finish the shawl. 

Points and abbreviations : 

st : stitch 

k : knit 

p : purl 

m1 : make 1 

K2tog: knit 2 together 

Yo : Yarn over 

R : round or row. 

*…* repaet the motive between * and* as many times as necessary to finish the round or row, or to the following indications. 

Garter stitch : knit every stitches in every rows. Ribs 1/1 in the round: repeat *k1,p1* in every rounds. 

Gauge (stocking stitch needles 3.5mm) 10cm/10cm : 30R/22st 

http://lesaiguillesdecamille.com/category.php?id_category=93
http://lesaiguillesdecamille.com/category.php?id_category=35
http://lesaiguillesdecamille.com/category.php?id_category=36


 

 

Note: for the scarf, the prompts are "basic recipe," so you can take the yarn you like, and the needles that correspond to your version of 

the work by including special items, beads, charms etc ... 

Triangular Chèche: 

With a cardboard of 12 cm, do 3 tassels using this method. 

Cast on 1 st on the needles 4.5mm 

In this stitch, knit 3 stitches (once in front loop, once in the back loop, once in front loop). 

When they are knitted, let them pass on the right needle and make the wrong side row by knitting them. 

R1 (rignt side row) :knit 2 times the first stitch, k1, knit 2 times the last stitch. 

R2 (wrong side row):knit the 5 stitches. 

R3: knit 2 times the first stitch, k3, knit 2 times the last stitch. 

R4: knit the 7 stitches. 

Row 5 and all the following right side rows: k3, Yo, knit the following stitches and 3 stitches before the end of the row : Yo and finish 

with k3. 

Row 6 and all the following wrong side rows : k3, purl all the following stitches ( including yarn over of the last right side row) and 

finish the row in knit 3. 

Repeat row 5 and 6 as many times as you consider necessary to achieve the desired height. 

Knit 6 rows of gerter stitch and bind off all the stitches as flexibly as you can. Bting in the threads, wash the chèche and block it by 

stretching especially in width. Then fix the tassels possibly embellished with 3 pearls . Cut the threads. 

  

http://www.tricotepastout.com/archives/2013/01/20/26198983.html


 

 

Tam:  

Cast on 90st on the circular needles 3.5mm using long cast tail (see there) or very flexibly. Put the stitch marker and form the cercle. Knit 3cm of 

ribs 1/1. 

Do the following increases :  

Round 1 : *k* 

R 2 : *k9, m1* 

R3, 4 and 5: *k* 

R6: *k10, m1* 

R7, 8 and 9: *k* 

R10: *k11, m1* 

Then do all the following rounds knitting all sts up to 10 cm. 

Decreases : 

Round 1 : *k10, K2tog* 

R2: *k* 

R3:*k3, K2tog, J, 6md* 

R4: K all sts and insert a bead on yarn over of the previous round if you wish. 

R5: *k* 

R6: *k9, K2tog* 

R7, 8, 9 and 10 : *k* 

R11 : *k8, K2tog* 

http://www.tricotepastout.com/archives/2014/09/08/30547485.html


 

 

R12 : *k* 

R13 : *k6, K2tog, Yo, k1* 

R14 : K all sts and insert a bead on yarn over of the previous round if you wish. 

R15 : *k* 

R16 : *k7, K2tog* 

R17, 18 and 19 : *k* 

R20 : *k6, K2tog* 

R21 : *k* 

R22: *k1, K2tog, Yo, k4* 

R23 : K all sts and insert a bead on yarn over of the previous round if you wish. 

R24 : *k* 

R25 : *k5, K2tog* 

R26 and 27 : *k* 

R28 :*k4, K2tog* 

R29 and 30 : *k* 

R31 : *k3, K2tog* 

R32 and 34 : *k* 

R33 : *k2, K2tog* 

R35 : *k1, K2tog * 

Cut the yarn to 30 cm long, put it on a tapestry needle, through all the remaining sts and tighten, repeat and then bring in the thread, tie it and 

cut it flush. Tuck the other threads and cut flush. 


